
10 6 5
（ ）＝ ＋ ×

15 15

6 5

4 2 4
＋ ÷

5 5 5

×
5 3 5

3 2 1
）－ ×

11 5
＝ ×

35 11

＝ － ×
35 35 11

11

21 10 5
（ ）

（ ）＝ － ×
5 7

× － ×
5 11 7

5
）

（ ）

10
×

9

1

4

1 10
×

5 9

（

（C）TERRAS Co.,Ltd.

1
＝

7
＝

3

4

4

15 4

16 5
＝ ×

53 5
（ ）＝ ÷＋

3 2 42 2

311

5

÷
2 5 2

② ④
3 5

1
＝ ＝

2 30

20 6 5

1

9 1 1
＝ ＝ ×

20 20

5 4
＝ ＋ ＝ （

69

9 52 3
＝

×

× ＝ ×－
1 1

＋
4

10

10 11 1
（ ）

9 2
×

1 1 1
－

10 1
×

① ③

＋

四則混合　③　計算のきまりをつかって
1問１２点（減点法）

点年グレード 6 ― 28

計算
エース

　
　
月
　
　
日

名
　
前

１＼＼

１
＼

＼

１
＼

２

＼
１＼

３ ＼

４

＼ １

＼

１＼

１１
＼

７



24 7

5

12

＝

＝

＝

＝

27 20 10
（ ）－ ×

24 24 7

7
（ ）－ ÷

8 6 10

9
0.7

5
0.7÷ － ÷

8 6

2
0.9

2
0.3× － ×

5 5

＝ × ＋
16 6 6

6
0.5

15 3 1
（ ）

× ＋ ×
16 16

3 10

3 8 12
（ ）＋ ×

12

2
＋

3
1.2×

1 2 12
）＋

（C）TERRAS Co.,Ltd.

8

7 10
×

＝
5

＝ ×
16 6

6

15 4

＝ × ＋
16 10

（ ）
15 5 19 5

⑧
15 15 1

⑥

11
＝

10

＝
12 10 25

11 12 6
＝ ×

×
10512 10

＝ ＝
62

5
－×

10 10
（ ×

4

32
（ ）＝ ＝

9

⑤ ⑦
1

×
4

1.2

１

＼

２

＼

１

＼１

＼

４

＼

１

＼

１

＼
５

＼５

＼

＼２

＼

１＼

１ ５

１２

＼

＼


